Division par 10% (A)

9,174 + 10* =

3,87 = 10° =

8,068 ~ 10° =

5,8659 + 10% =

4212 +10% =

2,65 =+ 10% =

3,446 ~ 10% =

1,3 +10% =

6+10% =

551+ 10%=

Trouvez chaque quotient.

7,9958 + 10* =

3,9515 + 10 =

2,87 +~10% =

3,968 + 10 =

6,26 = 102 =

1,4 +10% =

1,3 +10%=

1,363 + 10* =

2,8+10%=

7,83 +~10% =
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Division par 10% (A) Solutions

Trouvez chaque quotient.

9,174 + 10*=0,09174 7,9958 + 10% = 0,079958
3,87 + 10% = 0,0387 3,9515 + 10% = 0,039515
8,068 = 10% = 0,08068 2,87 +10%=0,0287
5,8659 + 10% = 0,058659 3,968 + 10* = 0,03968
4,212 + 10*=0,04212 6,26 + 10% = 0,0626

2,65 +10%=0,0265 1,4 +10°=0,014

3,446 +~ 10* = 0,03446 1,3 +10°=0,013

1,3+ 10*=0,013 1,363 + 10> =0,01363
6+ 10%*= 0,06 2,8 +10%=0,028

5,51 +10%=0,0551 7,83 +10%=0,0783
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